———— L0 g WL 7E A& F WA |

:GCTWY _ g2 2018 |

& % T & e e :
e # IafiRaR TR Y g e sl & forg zue R e | i
i mm%ﬁqaﬁaﬁﬁm% IWWWW%W&QWEWM¥%QW.E
e Py g S T WS- Tad ave & = e e |
) 2z 5 Fficad ©F T a1y ot 2w 2, 9 W e IO S, Tty R e s @ swoad
T 2, o 0 T F Ty swwrEr @ 34 o 1 E0S s |
) 3 B 230 TS W B A e S & s Iiear B I A fean o R, /3w v & R

e ez v R T | .
- e % AT g it gitrE BEE F T FE A @ qE A G

Neg ———=—s version of the instructions is printed on the back cover of this Booklet.



AN PR

GCTWY-02
|, wifRE Y Sy AR TR | o @ 7% 11 % T
(b) TR 23 11 % I FE T % AU R L :
(c) Taf , frq w1 B e TR 1 FR 1 A G
) TR e IR B B, I Hash Wd IeehaTqUl SR
o | SR % T T 1T § | e AT EIA F WS R
2. ‘RyRY-de A won el AT IeETE & ol QB o ¥ | i s
wreqa i ) STYIE TR R | Yzt 2 & e, TR, TarEh genfs ve o
(8) WA F YR ML | 3 | 78 wad yreha 3 e e R, Rl
(b) foreft ¥ ' T A g R | e, e ey oY TR T et | 36 T
(@) 0z 3l T AT I} 1 WA & e T W 3 IfiE e @ e o
o d w1 2, Rt area ol yae 31 W IR @@
() #E FYRETER | | o= ¥ | e e 9 g e A ¥ wiew
_ _ i €1 IcHTE F1 T@ET THRA Tol BraT | IFDh €Y
3 :}g&ﬂﬁﬂﬂmuﬁm% | eTequl wae a1 IHeH Ichal 1 G Fhed |
() FE 7. FER WA frmaR e ?
(c) gfamE (a) ATEHATE (b) T
@ ®a ©) T (4) w
4, ‘ﬁhﬂﬁtﬁ%’aﬁm% | 8. Tedian ¥ fore e worm it sl
(a) U FH | omfmR?
(b) WY T () 0§ AR e
(c) Hﬁmaﬁtﬂq | (b) =rereten 3R iR
(d) Wi o (c) Y= i e
P T T p— | (@ T, T s v e
@) ST () T 9. AT 3 e s o
©) &= (d) e 1R ?
6. ‘WA g Y e B (@) ITETE & IF=ia
(@) ¥+ am (b) X + A Mmaﬁmﬁ

(d) T % I



12.

13.

14,

15.

“ﬂm’ﬁﬁﬁq%

(a) =y (b) &
'm‘mtﬁ'@mlﬁ;ﬁqﬁ@w%
() ®w (b) fist

(c) =i (d) ¥
ariferiad fora are o otds R 2 7

(a) TH @& @8
(b) STtk M I &
() v EaE

(@) WS E

GCTWY-02

' 1 A4 T
: @’ AT
16, 1) 7@, Hl %ﬁwmmt
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(a) faget
(c) STEHETEI

19, ‘s’ wedan g ?
(@) it %s off =& sHaT &
(b) HE F3 TT B
(c) g AT ST &
(d) TSI oft € ok T ot e )

HER 7



GCTWY-02

21. The phrase "Pyrrhic victory” 8tandg
for

(a) easy victory

(b) honest victory

(c} victory at a high cost
(d) victory at a low cost

22  Choose the word which iS OPPOsitg in
meaning to 'VENERATE'.

(a) respect
() condemn
(c) severe
(d) initiate

23, Change the following sentence into

complex sentence :

‘Without your help he can do nothing.’

(a) Without your help what can he do

(b) Unless you help him he can do
nothing

(c) He can do nothing without your
help

(d) He can not do anything unless
you help him

24. Identify the part of speech of the
underlined word :

The boys ran round the tree.
(a) adjective

(b) adverb

(c) noun

(d) preposition

265

26.

L

{ollowing sertanae [ails]

Ghﬂﬂﬂﬂf;:‘m :
The te8 hEI’ sald that thﬂ l'J‘m"E

(8) Thgtd o quis!
acher called the boy® aril

(b} ;*:j rad themn to be gulét
her urgad the boys

(c) The CL
ol the BOYS

1o he

qulet
The teacher commande

that they be gulet

The son asked his mother i he

(a) cango out
(b) may go out
(c) might QO out
(d) did go out

Fill in the blank with the appropriie

word :
It is difficult for me 0 PaAN m——

my belongings.

(a) with

(b) from

() away

(d) off

Pick out the synonym of 'ERUBDITE’
from the following.
(a) execute

(b) expanse

(c) academic
(d) settle
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"} Chavge the given W into

Nsﬁ\"é vorce ¢
Yo kitted the snake ¥

(@) Whe was killed by e
@ By whom was the snake killed ?
(¢) The snake was peing kﬂ,led' i
(d) By whom is the snake killed

3. Fil in the blank with the correct

opton the
| tried to help him e
best of my ability.

(a) at

the snake ?

Instruction tor Question Nog 31 t0 35!

Read the following passage carsfully and
answer the questions that fallow !

Speech is a great blessing but itcan alsobe a
great curse; for while it helps us to make our
intentions and desires known to our fellows,
it can also, if we use it carslessly, make our
attitude completely misunderstood. A slip
of the tongue, the use of an unusual word.
or of an ambiguous word, and so on, may
create an enemy where we had hoped to win
a friend. Again different classes of peaple
use different vocabularies and the ordinary
speach of an educated man may strike an
uneducated listener as POMpPous, UHWIlllneg
we may use a word which hears g ditferant
meaning 1o our listener from what does
to men of our own class. Thyg speach s
not a gift to use lightly without thwght bLﬂ
one which demands careful handling 0 |
& fool will express himself alikg 1, all k nly
and conditions of men. Inde

34.

38,

i
(@) ireny in speech

(a) fiat

(b) boring

(¢} foolish

(d) democratic

Speech becomes & Curse, if it
(a) hurts others

(b) leads to carelessness

(c) creates misunderstanding

(d) reveals our intentions

gpeech is a gift, if it
(a) creates confusion

() communicates our meaning
clearly to our fellows

(c) becomes ambiguous
(d) Is used lightly
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8. In acanain code, PAN iswritten as 31 | g5 s fAfRRd @ﬂFﬂmaﬁmﬁ@%ﬁﬁn
and PAR is written as 35, then in this PAHaﬁlasﬁlE?lﬁ,a’rm@ﬁ PAT 30
code, PAT is written as | frar S ¢
@ (a) 30
o 37 (b) 37
€ 39 | (d) 39
S7. In the process of communication, the | 37. TFINUT & WshH § Jifom =0T
iast step is |
(@ Encoding (a) W
(©) Message (b) T
(€} Decoding (c) e
38. Communication that used to assign | 38. Tt aaa # 98 v S e =
goals 1o sub-ordinates in an organisation, | e o Ffdee # o oo v foman e
is called §, Fedd &
{2) Upward communication | (@) FeaTTHY ST
M Downward communication (b) eI} TEgu
(c) Informal communication ' (c) ST TeE
(d) Lateral communication (d) Tifeis T
39. Which of the following is not a 9. Profuftes i FR-m fed s«
communication barier in a workplace ? ARy < R e R
(a) Noise (a) TR
(b) Prejudice (b) JETIE
(£) Active listening (c) GisHd HEAW
(d) Improper medium (d) STIIGH W



42. ‘Aplant is a vegetable organisny is an | 42 “drai s vk e ¥ 38 =2 2
(a) SITBIRS T

(b) Negative definis (b) ﬁamﬁqmm
(d) Accidental definition | (d) el uirgmy =
43. '+ means’x,’“means’, 'K means | 43. ARy WIA W I ad .
' and ‘<" means '+’ thend -8—-2 x o, m‘a'ﬁiaﬁi.i% ‘:ﬁ > X’Hm
24+4=1 | P
4“'3"212‘!‘4:?
(@ 4 (a) 4
@ 0 (b) o
{c) 8 (© 8
(d) 6 (d) 6
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44. Check the following three statements : | 44.

1. Kamla is not Ravi's wife.
2. Premilata is Ravi's mother.

3. Sita is the only daughter-in-law of

Premlata.

What conclusion can be drawn from
the above mentioned statements ?

(a) Kamla is sister of Sita.

(b) Premlata is mother of Kamia.
(c) Sita is Ravi's wife.

(d) Kamla is daughter-in-law of

Premlata.

45. Which of the following conclusions can
be validly drawn from the given set of
premises 7

1. No hero is coward.

2. Some soldiers are cowards.
Conclusgions :

(a) No soldier is coward.
(b) All soldiers are heroes.

(c) Some soldiers are not heroes.

(d) Some soldiers are heroes.

46. 'Division of Indians into rich, poor,
intelligent and dull’ is an instance of

(@) Cross division

(b) Physical division

(c) Metaphysical division
(d) Logical division

46.

o Srwyetar U =i o &1

3. e e ) e TR

s Fot & A e T S
e |

(a) W?ﬁmﬁﬁﬁﬁl

(b) ST e A 2l

(c) diean I w2

(d) =TT W i gAY B

suRETEE! & fol 18 e | Frefafga |
Tamw iy s e Recaa e 7

1. I8 ot e FR T A B

2. %S fourdt wrr 2R B

Frewd .

(@) =r§ R R == Ban

(b) Tft R s A ® |

(c) T® R T i B ¥ )

(d) Fo R e € |

‘st &1 R, Wi, FREEE quyy
T § fTe o e
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M fgures i 7. FeRvfua o wﬁ.i‘nﬁit SRR NN

(@)

(b)

©
.
[c, LA

1=

@

. Consider the following arguments : 48. ﬁ'ﬁg@lﬁﬂﬁ?ﬁﬂm
A. All poets are idlers. ot i el T g
B. No poets are idlers. = é\ﬁﬁmﬁ'ﬁﬁqﬁiﬁm%l_
Which of the following conclusion can Praferfiag § & S - Frswd e et
logically be drawn ? A EHa & *
(b) A can be false and B canbetrue _ _
() Both statements A and B can be B) AS W‘Ewﬁ' t
fxici (c) AN B TF T & T ©
(d) Both statements A and B can be (d) A 3 B W FUF T | THA &
true
_ Which one of the following pairs has the | 49, =R i # vl Tt warw R,
same connaction asin between GJ and ’
o GJMQUE AT HR ?
(a) BC and WZ (a) BC AR WZ
(b) AB and ST (b) AB3MST
(¢) AD and SW (c) AD 3R SW
(d) DHand vy (d) DH 3w vy



50. Which number will come next in the

51.

92.

23.

following series 7
5,16, 51,158, 7

(a) 1454
(c) 1452

(b) 483
(d) 481

Which one of the following is different
from the others ?

DFH, KMO, RTV, TWZ
(a) KMO (b) RTV
(&) TWZ (d) DFH

If the 4" day of a month is Saturday,

which day will be the 5 day before 26"
of this month ?

(a) Monday
(c) Friday

(b} Tuesday
(d) Sunday

Complete the sequence with the correct
option from the following codes :

M, T, W, T, ;
(a) F, 5T
(c) S,F, T

i F.5.5
(d) T,F, S

Two Americans are going. One is father
of the son of the other. What is the
relationship between the two ?

(@) Father - Son

(b) Mother - Son

(<) Mother - Daughter
@) Husband - wifg

10-

50. aﬁﬁf@“mﬁwmmm
A 7
5,16, 51,158, 7 _

(a) 1454 (b) 483
(c) 1452 (d) 481
51. SRy T Y g o A A P R 7

DFH, KMO, RTV, TWZ

(@) KMO (b) RTV

52. If2 frft o w e e wiam g, v 3w
MmeFe I s RAmwma s arfe
&I 7
(a) HHER (b) HTER
(c) TR (d) TRER

53. %@a@ﬁﬁﬁﬁﬁﬁﬁmm
mﬁﬂm
M,T,W, T, . , )
(@) F,S, T (b) F, S, S
ic) 8, F. 1 d) T,F, S

54. 2 FAFRIH! S @ § | T TR 8¢ F Ry
Tl amay?

(a) faen-ga
(b) Hidl-T4
(c) wwT-FA
(d) Sld-gecdt



55. How many natural nymbers are there |

. 55. i 540 % ued Pl sigin
in between Jﬁ.ﬁ and 3249 ? \"Eﬁ ;i'l?t 3249 * *
(@) 26 (b) 27 @ by 27
(c) 28 (d) 29 () 28 (d) 29
%. 120% of (X +Y)=50%of (X=Y), | 86. 7R (X4 y)a20%= (X~ Y) ¥ 60% ¥,
then X : Y is equal to A X« ¥ & s B
@) 3:7 (b) 5:7 (@) 3:7 by 5:7
© 7:3 (d) 7:5 | ) 7:3 (d) 7:6
57. Ifthe com i | 1 o, siford 4
: pound interest on asum TR 294 H 125 Y
for 2 years at 1212%. per annum Is TRy e T 340 Gk B Tl
T 340, then the simple interest on the ot e 3¢} araf & ol o s W
same sum at the same rate for the |
same period of time is B 7 _
(@) T 310 () T 320 (a) ¥ 310 (by T 320
(c) T 330 (d) % 335 | (c) ¥ 330 ) ¥

58. The area of the given circle is 36x. It
has been divided into six equal parts.
The length of arc PQ will be

(a) =« (b) 3n
(c) 4n (d) 2n

59. A right angled triangle having
hypotenuse 25 cm and sides are in

58, T2 g% %1 Ao 36x Y | ) 6 AW
vt f aie e & |5 PQ A g e
E—

theratio3:41s made to revolve about

its hypotenuse. The volume of the
double cone SO formed is
(a) 1000m cm’
(b) 1250 cm®
3.

(a) = (b) 3n
(c) 4n (d) 2n

59. o G B =, foreem o0f 26 adl, B
7E §od 3 : 4 3 arquma 3 B, 30 % oftm;
ufigrHv 0 STen § | e wianr ik i
&1 AT
(a) 1000m &y
(b) 1250n &nfe
(c) 1500 ¥
(d) 1575n B

41-



80.

81

_ LI
It -ﬁ: \ -E = 2, then value of 2.LY

L ul
12 equal to Wiy
(a) O
(D) %
(€) Y4
(d) 1

It X, v, 2 are poaltive Integera auch that
Xiv=1:2andy:2=3 5 then whioh

one of the following will be poasible
value ot Sx = Jy + 2 9

(a) 180
(b) 190
(&) 196
(d) 200

It x =2 is a factor of pelynomial
¥ 4 4% = 3x = 18, then It's other

factors are

(@) x+2, x+3

(b) x=3, x+1

(¢) x+3,x+3

(d) x+ 1, x+2

The roots of the equation W&+ px+Qqa0

are 1 and 2, the roots of the equation
qx® = px + 1= 0 must be

13

a0, ¥ Er!-ph.,ﬂ Ei_'_i;- % 1111

01,

62,

63.

y X Xyt+y
LR,
(a) 0
() W
(@) W
(e) 1

R K, y, 2 Meltcass portes gt sreee 8 3
xiy=1:23My:2=3:8,%
PrranfeaRere oY & st -ur Bx = By + 2
3w e w7

(a) 180

(b) 190

(¢) 108

(d) 200

R YT X 4 4x? = 3x = 18
Us URTEYE x = 2 B, Y W ar
JURICLER.

(a) X+2,Xx+3

() x=3, x4+ 1

(@ ®x+3,x+3
(d) x+1,%x+2

ST @ 4 px + Q= O % T 1 AU 2t
Al G qut = px + 1 = 0 % IE ¥
1
(@) 1, )
1
(b) -"2*-.1

1
(c) _E!_1

1
@ =173



ich i unicati -
4. ﬁh::;‘?ﬂlﬂ part of communication | g, P 3 & #A-91 gy TN F
(a) Medium “:T TR 7
(b Life values and vision %) Hrem .
(c) Transmission t; Wﬁgﬁ
, o
(d) Information (@) g
65. Which of the following charaCterisics | 65, frfifay i 3 #a-# RIS CIEe
smostimporntorGHBOORAS | 13 e o o B
pﬁrsﬂnﬁ 2 %%Qﬁﬂf&ﬁ;ﬂ?ﬂw e’
() Empathy (a) W
(b) Extroversion (b) =fed@dr
(¢) Emotional instability (c) wamre R
(d) Authoritarianism (d) watea
86. The biggest advantage of regular 66, T vy & sl qut STHR & T
interaction between officer and |
sub-ordinates in an organization is Prafir srafian o e o291 o 4€ & 16
R ey, | 0 w——
relations (b) T% G el i Ul B
(C) 'I;r ;i?:;ates effective decision (c) T& sl fota fmion =Y gt =Tt 3
(d) Itdiscourages the sub-ordinates (d) & ST B EdIcHTTEa At R
67. lrrati Si o b _ .
Iratoalsecisons waninahgh | 67, 3% e g o s ek
(a) Creativity Wﬁm%
(b} Group thinking @ e T
_ (b) e A
(c) Informality (C) TG
(d) Psychological vigilance (d) BEICRIIEE Ry
. Wi deciion makig sy s most | 65, P 471 1o
(a) Passive I 8 ?
(b) Aggressive (a) e
(c) Assertive () - ST
(@) Passive-aggressive ' () Jedmate
{d) ﬂ%ﬂ-—-ﬂm



69. ".ﬂf'hile selling a watch, a shopkeeper | g9. ﬁﬂﬁﬁhﬁmﬁwmﬁm
gives discount of 5% on it's marked g T 5%@%“%'@% 10% $ %7

price. |f he gives discount of 10%, then | L
he eams T 25 less as profit. Marked ﬁﬁf,ﬁ\?‘%?ﬂq%mﬁ T 25 &M W< 16l

price of the watch is @WH&EH@%
(a) ¥ 300 | (a) T 300
(b) ¥ 380 (b) ¥ 380
(© T 500 (c) ¥ 500
(d) ¥ 700 | (d) T 700
70. A student has to secure 45% of marks | 70. oGO8 H GH o ) g B ¥ i1, 45%
to pass an examination. He gets only 3ia OT 0 B ¥ | 37 Fae 50 I IS
50 marks and fails by 4 marks. The | a1 & 3K 4 3 & srEHe B I ¢ |
maximum marks is At AF T 7
(a) 110 (a) 110
(b 120 | (b) 120
(c) 135 I (c) 135
(d) 150 (d) 150
21 10 women can complete a work in | 71. T &1 10 3ir 7 R 3 qu o werdt 8
7 days and 10 children take 14 days to aﬂtaﬁ’rmﬁaﬁmaﬁmﬁq’iﬂwﬁ
complete the same work. How many g5 £ | 3@ o 7 5 ofd T 10 =R
days will 5 women and 10 children take ’ ﬁﬁﬁﬁﬁw 0y 7
to complete the work ?
N 3 (@) 3
- (b) 4
(b) 4
(c) 5
(€) 5 d 7
A 7 ’

72. The average age of a husband and his | 72 m*?ﬁaﬂmmqﬁ ol e
wife was 23 years at the time of thel I <3 E _H'E,T:Fﬁ-'.trm 199 =5y
marriage. After 5 years, they have a goa1 ¢ | a8 R IRER H afgq MY ferer)

one-year old child. The average age Of | 27

the family now is (@) 1934
(a) 19years f, (b) 23N
(b) 23 years L (c) 28.5°N
(c) 28.5 years (d) 29.3 4
(d) 29.3 years 1'#‘



Preh| a:ﬂy, Iherefore ali novels
Al - Can be read in a day
'I'lﬁrmuesmetanawﬂf

(a) Diision

(b) Composition

(c) Petitio principii

74. Assertion (A) : Education is must for
SUCCess.
Reason (R) : Education is key to
SUCCesSS.

Select the correct answer from the
code given below :

(a) Both (A) and (R) are true and (R)
is the correct explanation of (A)
Both (A) and (R) are true but (R) is
not correct explanation of (A)

(A) is true and (R) is false

Both (A) and (R) are false

(D)

(c)
(d)
'ron is a cheap metal' is an example of
(a) Accidental definition

(b) Figurative definition

(c) Synonymous definition

(&) Too narrow definition

"Division of chairs into leg, back and |

seat is an instance of

(a) Logical division

(&) Physical division

(c) Crossdivision

(d) Metaphy:—:;ical division

sitive integers such

{L;talrldj;f TP ; then the possible
value of ¥* +¥° - b(.:} 85
(a) 90 (d) 65

(c) 72

73,

(a) famg

(b) Tuw

(C) IATH™E

(d) I A F HIS A&l

W{A};W#%ﬂﬁmﬂﬂﬁa’fﬁl

RUT (R) - e et i §1 ¢ |

Hﬁ%ﬁﬁiﬁﬁﬂﬁﬁﬂﬁq

(a) (A)T (R) 2 T 8 3T (R), (A)
# gt s 8

(5) (A) @ (R) 31 & & g (R), (A)
£t TE = TE

(c) (A)Ed ® 3N (R) :FqH 3

(d) (A) 3T (R) SHI 3EA ©

74.

‘e v wedt aTg 7 9% I8 §
(a) SRR JRHTHT

(b) AR TS ol
ORLEEEIRRGIEIE

(d) AT TICATST =

. ‘gﬁﬁﬁﬂm,ﬁmﬁmﬂmmﬁﬁ
(a) dIfeRa ferrs 1
(b) iferes fenare =
(c) Torfa ferr= =

7o

77. zrt%xai‘nyu:rrfﬁtmﬁassﬁm%ﬁa
y2 =13, A0 + y2 Sl GHE | BT

X =
(a) 90 (b) 85



80.

a1.

The diagonals of a hombus arg of |

\engths 24 cm and 32 ¢m Length of

the side of thombus (in cm) is
(@) 18
(b) 20
(C) 24
(d) 30

A hemisphere and a cone have equal |
bases. | their heights are also equal, |

then ratio of their curved surface will
be

) 2:1
(b) 1:2
(€) J2:!
(d) 1:2

The length, preadth and haight of aroom
are 12m, 4 m and 3 m, respectively.
A man wants to put rods of lengths
14 m,12m, 13 m and 15 min the room.
Maximum number of rods which he can

out in the room is

fthe meanofx x is 7.5 and the mean
of X, % %18 8, then the value of X, IS
(9 9

(p) 8

(©) 7.5

(d) 6

-18-

78. T WA il ) evaéan 24 @

a1 32 8. § | e ¥ 0 )
(. ®) &

(a) 16
| (b) 20

(c) 24
(d) 30

79, T orefiter 3R OF Vg & AR FHA
¥ | af? 3t Sndat oft gE &, 1 3 A

80. wﬂﬁlm,aﬂ@iﬂmﬁﬁﬁm:
12 1., 4 =, qen 3 . B | G ARH T
w3 14 /., 12 9., 13 @1, 7en 15 #t.
el T2 H TEA el § | T FALH 98
iftreram ol @Sl = 1@ Fohal § 7
(a) 1
(b) 2
(c) 3
(d) 4

81. AR x,, x, AR 7.5TUIX,, X;0 X, T 1A

8%, x, M 8
(@) 9

(b) 8

() 7.5

d) 6



12.  Which one of the following is not included
in classroom cOMmunication 2

(@) Indirect communication
(b) Informal communication
(c) Silent communication

(dY Formal communication

83. For which purpose circular type of
communication is most suitable ?

(a) Member dissatisfaction
(b) Effective judgement process
(c) Member satisfaction

(d) Effective transmission of
information

B4. Listening can be best defined as

(a) The physiological process of
decoding

(b) A process we use to make sense
out of what we hear

(c) Forwarding the information that has
been communicated

(d) Recalling information that has been
communicated

85. What is meant by responding ?

(@) Focussing on a particular sound or
message

(b) Sorting the various sounds that
draw your attention

() Confirming your understanding of
a message

(d) Assigning meaning to messages

17-

(d) GEMIT! = HEH -l

84, G ! Gifiieh TeS! alE © TR
forar < geka B

(@) HeaTa <l afeeh UiskT & &9 H

(b) & FAA S It A THerrem 1 e
Ush Uiska & &9

(c) EaTRE =t 17§ Gt = ST e

(d) Feied o TS T T eaTETEs

85. Wfsha1 <4 & 3119 o Ty & 7

() T fafire smar ar e o e ¥
AT

(b) A9 €A e a1t fafry et
I BFeAT



Hﬂﬂﬁnw_manufmaﬁrstmprim
e numbers are M and m, respectively,

then

(a) M=m

©) M>m

i) M<m

(d) None of the above

g7 Mode of the observations 0, 1,6, 7, 2,
3,7,0,7.26.6,7,50,7is

(a) 3.8

(b} 6

() 7
(d) None of the above

86. ﬁM‘lﬂmﬁ@ﬁﬁEﬁm@ﬂﬁ

WS B9 M afgm &,
(@) M=m
(b) M>m

(c) M<m
(d) SHIF Y FE Tel

g7 @uit0,1,6,7,2 3,7.0,7,.2,6,.6. 7,

5, 0, 7 &1 95T &

(a) 3.8

(b) 6

(c) 7

(d) Igea | | FIg Al

88. The proportion of various items in a pie 88, vs ¢ forg & Ry wEl & AquTa faaeh
diagram is directly proportional to the AT ST e ?
(@) Area of slices (a) 379N % STHA 5
(&) Angle of slices (b) 3T & FHivTl =
(c) Length of curved arcs of slices (c) 37911 < Feh =101 I TS &
(d) Perimeter of slices (d) o7 & ufwdi &

89. The relationship that exists between | 89. &=y 3311 W eIe &y 7 3 Fa

3 and 11 will exist between 7 and B8 ?
(a) 22 (a) 22
(b) 29 (b) 29
(c) 18 | (c) 18
(g) o1 (d) 51



90. Which of the fnilnwmg

horizonta cnrnmunicatignli 2 vpe o
(@) Lateral commyp, Catiop,

(b) Downward COMMunicg o

(¢ Upward COMMunicaion

(d) Neutral comrnunicati-an

91. Which one of thg fU"Gwing can be
termed as verba| COmMmunication ?

td) Professor Sharma dgjivered his
lecture in the class

(b) Professor Verma gave the

message 1o the students through
mobile

(¢) The child was crying to attract the |
attention of the mother

(dy Deepak wrote a letter for leave
application

92. Communication through gesture is

related to

(a) Kinesics

(b) Proxemics

(¢) Para-language

(&) Non-verbal behaviour

93. Which one of the following is not a form
of communication ?

(a) Interview I

(¥) Reading interesting novel

(c) Discussion

(d) Social inta(action I

91.

(b) ST mt 3 sroen wRm A S0
BiEIEIREe)

(c) i3 T 3yt ST HA o FeTC F=
T &

(d) 43 gt 3 amare 3 fg A feren

92. TIE-HTE EI Tl TEEd
(a) I
(b) wfFate
(c) YU-oias o
(d) e UEER |

fFrafefas & @ F-o1 t guwer o w9
TE R 7
(a) HIETERR

93.

(b) HAIGEE U= G



a4

96.

97.

(@) 1821
(c) 3035

In & cooe, !
41 - 132 =56

42-—34;3&
59~ 13 =48

then 33 ~ 22 18
(a) 11
(¢) 46

(b) 44
(d) 64

While introducing & man (o har hushand,
a woman said his brothar's lather 18 the
only son ol my grandfather How I1s the
woman related to this man 7

{b) Sister
{d) Daughler

(a) Aunt
(c) Mother

It4dx6=1812, 5x 8 = 2415,
Ex9=2718,then 7 x 6 =

(b) 2428
(d) 3642

In the following table, missing number

g6

97

faah ¥ 4, o
41 - 32 = 65
42-34 =176
ﬁ:.;.}'-.1as4&.

Mm33-228

@) 11

(c) 46

(b) 44
(d) 64

ufd 4 « 6 = 1812, 5 « B = 2416,
Bx0=2718,M7x8=

(a) 1821 (b) 2420
(c) 3035 (d) 3642
Freafifiam enferarn i ey o x B




B8, In 3 certain 0ode, TABLE igwitien 25 | 98  s1fs fyef) faem 472 8 TABLE F)
UCEPJ, then which of the following

UCEP.S foren a0 9, A1 CHAIR 1
5000 Woukd be writien for CHAIR 7 Grflofrgn i 2 fpm 7 1 foren
(b) DJIDOWMW (38) DEKMMT
N DJOMW
(€) KDFAT ) KOFAT
9 kCGoD () KCGOD

99. Eight friends meet at a party. Each one |
shakes hand with sach of the othar
once. The numbsr of possible hand

99. 2§ vm A 4 fgea ¥ ) o) ven oF
on vy fna # | aearian vy fiens 6

o ¥

shakes ig
(a) 84 (a) 84
) 58 (b) 56
(c) 28 (c) 28
(d) 20 @ 20

100. ‘Some languages are difficyit to laam,
Sanskrit ig 3 language, Therefora,

100. "9 v gy # wizy Lo R AR T

Sanskrit is difficut 1o learn.’ This RN e g e
involves the fallacy of e whi
(@) Undistributed middie term (a) 2474 yomy o
(b) Composition (b) e
(c) Division (c) P

(d) None of the above (@) Z5rom 4 8 9k 3

21



